APPLICATION FOR PARTIAL PAYMENT OF CONTRACT

	Project Title):	SW Irvine	edale Dr.	Transmissi	on Mai	n - Pr	iase 1
city of	Engineer:	-		SI	hive-Hatter	у		
Ankenv	Address:	arkway, Suite 100, West Des Moines, IA 50266						
beinging it all tagsther	Finance Bud	dget Code:	620.3620.	4210	Finance	Proje	ct#	620.4210
	Vendor Proj	ect or Invoice #	•	418366	0-4	P	0 #	
	Original Cor	ntract Date:	July 2	26, 2018		Vend	or # _	8471
Date of Council Meeting:	Januar	y 21, 2019	eo.		PAYME	NT RE	QUE	ST# 4
	PAYN	MENT PERIOD:	From: N	lovember	10, 2018	Throu	igh: _	December 28, 2018
Contract Summary								
Original Contract Amount:		\$ 2	25,000.00					
Net change by Change Order	'S'	\$		-				
Contract Amount to Date: (line				\$	225.0	00.00		
or moory minorally to Dates (minorally						00.00	•	
Total completed and stored to	date:	\$ 1	09,299.65					
179	oleted Work:	\$	-	-				
Total Earned less Retainage:				\$	109,2	99.65		
Less previous applications for	r payment:			\$	74,3	75.45	E	
SUBTOTAL							\$	34,924.20
OTHER CHARGES (Attach an it	emized list)						\$	
CURRENT PAYMENT DUE							\$	34,924.20
Deleves to field, leadeding and				œ.	445 7	20.05		
Balance to finish, including ref	ainage:			\$	115,70	00.35		
Contract Time Remaining (If ap	nlicable)			Working	Davs			
Contract Time Homaning (in ap	рисцио	S		woming	Dayo			
The undersigned Contractor certifies that to In accordance with the Contract Documents	the best of the Con	tractor's knowledge, info	rmation and be	lief the work o	covered by this	Applicatio	n for Pay	yment has been completed
payments received from the Owner, and the				WORK TOT WING	n previous Certi	ncate(s) f	or Paym	ent were issued and
Construction Contractor Appro	oval:			Shive-l	lattery			
0.5	Firm Nam	9					1	
Simular Carl	Date	2				_ ,	1	3 19
Signature	-1-						Date '	
Engineer / Consultant Approve	Firm Nam	9						
Signature							Date	
City of Ankeny Staff Approval:								7 7
to analal ("	Day Or						1	14/19
Signature	while					— -	Date	
Submit to:		Donald Clark, P	F - Directo	r of Munic	cinal I Hillitia	c		
	\nkenylowa.go			'515) 963-		Fa	χ,	(515) 963-3535
				2.0,000	3020	ıa	^· —	(010) 800-0000

Date Printed: 1/3/2019

APPLICATION FOR PARTIAL PAYMENT OF CONTRACT

Previ	ous Applications for I	Payment		
No.	Date	Amount		
1	September 7, 2018	\$ 18,853.21		
2	October 12, 2018	\$ 25,652.70		
3	November 9, 2018	\$ 29,869.54		
4				
5				
6				
7				
8				
9				
10				
11				
12				
13				
14				
15				
16				
17				
18				
19				
20				
21				
22				
23				
24				
25				
26				
27				
28				
29				
30				
31				
32				
33				

No.	Applications for Date	Amount
36		
37		
38		
39		
40		
41		
42		
43		
44		
45		
46		
47		
48		
49		
50		
51		
52		
53		
54		
55		
56		
57		
58		
59		
60		
61		
62		
63		
64		
65		
66		
67		
68		
69		
70		

S 74,375.45

TOTAL

16	
17	
18	
19	
20	
21	
22	
23	
24	
25	
TOTAL	\$ -
Contract Time Remaining	ng
Contract Period:	Working Days
Original Contract Date:	
Original Contract Time:	
Added by Change Order:	
Contract Time to Date:	
Time Used to Date:	

Contract Time Remaining:

Record of Change Orders
No. Date

Amount



INVOICE

Shive-Hattery, Inc. | 316 Second Street SE | Suite 500 | PO Box 1599 | Cedar Rapids, IA 52406-1599 | 319.362.0313 | fax 319.362.2883 | shive-hattery.com

January 03, 2019

Invoice No:

4183660 - 4

Don Clark City of Ankeny, IA 220 West First St. Ankeny, IA 50023

SW Irvinedale Dr. Transmission Main - Phase 1

Services provided from November 10, 2018 to December 28, 2018:

		Hours	Rate	Total	
	Grade 1 Professional Staff	188.10	86.00	16,176.60	
	Grade 2 Professional Staff	74.50	103.00	7,673.50	
	Grade 5 Professional Staff	64.80	142.00	9,201.60	
	Grade 9 Professional Staff	.50	202.00	101.00	
	Grade 4 Technician	4.60	91.00	418.60	
	Grade 6 Technician	6.50	116.00	754.00	
	Grade 7 Technician	.50	130.00	65.00	
	Surveyor with equipment	4.00	122.00	488.00	
	Totals	343.50		34,878.30	
	Total Labor				34,878.30
F	Reimbursable Expenses				
	Reimbursed Exp/Mileage			45.90	
	Total Reimbursables			45.90	45.90

MINIOUNI DOE I LIO INVOICE

\$34,924.20

Billings to Date

	Current	Prior	Total
Labor	34,878.30	73,586.75	108,465.05
Expense	45.90	738.00	783.90
Unit	0.00	50.70	50.70
Totals	34,924.20	74,375.45	109,299.65

JJB

NTE \$225,000.00

TERMS: PAYMENT SHALL BE DUE UPON RECEIPT



January 2, 2019

Don Clark City of Ankeny, IA 220 West First Street Ankeny, IA 50023

RE:

PROGRESS REPORT NO. 4

SW IRVINEDALE DR TRANSMISSION MAIN - PHASE 1

Dear Mr. Clark:

Enclosed is our invoice for services from November 10, 2018 through December 28, 2018 for the SW Irvinedale Dr. Transmission Main – Phase 1 project.

Work performed during this period included the following:

- · Continued transmission main design;
- · Continued utility conflict review & begin coordination with owners;
- Continued coordination with lowa DOT;
- · Worked towards the 90% plan submittal on December 4;
- · Updated preliminary cost opinion based on 90% plans;
- Coordinated soil borings;
- · Incorporated City's 90% review comments
- · Developed project manual.

Work anticipated in the next month:

- · Continued utility conflict review & coordination;
- · Finish incorporating City's 90% review comments;
- Work towards 100% plan review submittal, tentatively scheduled for January 8;
- Update preliminary cost opinion based on 100% plans;
- · Update project manual to incorporate City's review comments.

At this time, we are approximately 90% complete with the design phase of our work.

Please feel free to contact me with any questions.

Sincerely,

SHIVE-HATTERY, INC.

Jenifer J. Bates, P.E. Project Manager

Enclosure